EAX 8 7 4 ket

1 HE BB 1% ST ST9 RS W2 15
(25) PO SP (Feke)
9 BHF /3 1% 10 BR &I 1%#&
(B3 0-4 0:29 |0-4 2:45 0-4 2:44] 0-4 1:53 (g T %)
3 B s 1£F 0-4 1:10 1-3 6:00 A8 K& 2fF
(KIET%) (P T
s Ll A 1 & 0-3 6:00 1-4 0:48 12 #HH K— 2%
(;BEEdL) ST PP (—EI%)
PP 1-3 6:00
5 mA K& 2f VT ST13 h# $RE 2F
(NERBESE) ST ST G ETE D)
6 Al AE O 1£&E 1 Bk By 2F
(—BI%) 0-5 0:38 0-4 1:52 (HEI)
: EA TXEA 1& 0-4 1:29 |ST ST| 0-5 0:42 INR BE O1F
(K52 IKFE) (ZEHETZ)
8 B B= 2f 0-4 4:07 0-4 0:20 6 INAY B 2%
(I g T 3€) ST VT (EAER)
JIIE 432 T M OB ¥ oE 2 Ik B B = E &
18 NE HER 14| B WD 145 bkt $REE 24 EH K& 24
(E) (&R (hi2EE) (WNERBEEE)
o fr @A K— 24| Il o 18| BH B= 2% INEY) & 24
(—EI%) GB2HAL) Ci ) (ZRE)
3 ML BE 14| EH BKE 14# BEiE R 14 52 K& 24
(ZEHETZ) (2 KE) (KET%) (FBTE)
41 BAR AR 14 AR &3 2% - E 14 BH ##3 14
(FRIRE) (FRI) (BT %) (BEF)
wa I AEE 14 =¥ E— 14| Wit FHARER 14
(—EIE) (BRI (FETE)
A BE KE (WasesPE)
20w e (eRE®
St AE #B =@
3L K WS  (Gk#)




